

Difference equation satisfied by the Stieltjes transform of a sequence

Diego Dominici

Veronika Pillwein

DK-Report No. 2018-11

12 2018

A-4040 LINZ, ALTENBERGERSTRASSE 69, AUSTRIA

Supported by

Austrian Science Fund (FWF)



FWF

Der Wissenschaftsfonds.

Upper Austria



Editorial Board: Bruno Buchberger
Evelyn Buckwar
Bert Jüttler
Ulrich Langer
Manuel Kauers
Peter Paule
Veronika Pillwein
Silviu Radu
Ronny Ramlau
Josef Schicho

Managing Editor: Diego Dominici

Communicated by: Peter Paule
Manuel Kauers

DK sponsors:

- **Johannes Kepler University Linz (JKU)**
- **Austrian Science Fund (FWF)**
- **Upper Austria**

Difference equation satisfied by the Stieltjes transform of a sequence

Diego Dominici* Veronika Pillwein

November 15, 2018

1 Introduction

Let \mathbb{N}_0 denote the set $\mathbb{N}_0 = \mathbb{N} \cup \{0\} = 0, 1, 2, \dots$. We say that the sequence of polynomials $\{q_n\}$ is a *monic basis* of $\mathbb{C}[x]$ if $q_n(x) \in \mathbb{C}[x]$ is a monic polynomial and $\deg(q_n) = n$ for all $n \in \mathbb{N}_0$. If $\{q_n\}$ is a monic basis and $\{\mu_n\}$ is a sequence of complex numbers, then the linear functional $L : \mathbb{C}[x] \rightarrow \mathbb{C}$ defined by

$$L[q_n] = \mu_n, \quad n \in \mathbb{N}_0, \quad (1)$$

is called the *moment functional* determined by q_n and μ_n [2]. The number μ_n is called the (generalized) *moment* of order n . In the literature, the chosen standard basis is the monomial basis, $q_n(x) = x^n$. If the sequence of polynomials $\{P_n\}$ satisfies

$$L[P_n P_m] = h_n \delta_{n,m}, \quad n, m \in \mathbb{N}_0, \quad (2)$$

where $h_0 = \mu_0$, $h_n \neq 0$ and $\delta_{n,m}$ is Kronecker's delta, then $\{P_n\}$ is called an *orthogonal polynomial sequence* with respect to L .

If the linear functional L admits an extension to the field of rational functions $\mathbb{C}(x)$, then we can define the *Stieltjes transform* of L by

$$S(t) = L \left[\frac{1}{t-x} \right], \quad (3)$$

where L is always assumed to act on the variable x . Note that, at least as formal power series, we have

$$\frac{1}{t-x} = \frac{1}{t} \sum_{n=0}^{\infty} \left(\frac{x}{t} \right)^n,$$

*Diego Dominici was supported by the strategic program "Innovatives OÖ-2010 plus"

and therefore (formally)

$$S(t) = \sum_{n=0}^{\infty} \frac{L[x^n]}{t^{n+1}}. \quad (4)$$

Thus, if we use the monomial basis $q_n(x) = x^n$, we can write

$$S(t) = \sum_{n=0}^{\infty} \frac{L[q_n]}{q_{n+1}(t)} = \sum_{n=0}^{\infty} \frac{\mu_n}{q_{n+1}(t)}, \quad (5)$$

and interpret $S(t)$ as a generating function of the sequence of moments $\{\mu_n\}$.

One could be tempted to define $S(t)$ by (5), but then (3) won't be true in general. However, if the monic basis $\{q_n\}$ satisfies

$$\frac{q_{n+1}(t)}{q_n(t)} - \frac{q_{n+1}(x)}{q_n(x)} = t - x, \quad (6)$$

then we obtain the telescoping identity $\frac{q_n(x)}{q_{n+1}(t)}(t-x) = \frac{q_n(x)}{q_n(t)} - \frac{q_{n+1}(x)}{q_{n+1}(t)}$. Hence (at least formally) we have

$$\frac{1}{t-x} = \sum_{n=0}^{\infty} \frac{q_n(x)}{q_{n+1}(t)},$$

and we see that (3) and (5) define the same function $S(t)$. The general solution of (6) is given by $q_n(x) = \prod_{j=0}^{n-1} (x + f(j))$, for some function $f(j)$. In particular, if $f = 0$, we recover the monomial basis. If $f(j) = -j$, we obtain the basis of falling factorials

$$\phi_n(x) = \prod_{j=0}^{n-1} (x - j), \quad (7)$$

that was studied by Bracciali, Pérez and Piñar in [1].

In this paper, we consider the sequence operator $\Psi : \mathbb{C}^{\mathbb{N}_0} \rightarrow \mathbb{C}((t))$, defined by

$$\Psi[c_n] = \sum_{n=0}^{\infty} \frac{c_n}{\phi_{n+1}(t)}. \quad (8)$$

Note that

$$\Psi[c_n] = \sum_{n=-1}^{\infty} d_n t^n, \quad (9)$$

where $d_{-1} = \sum_{n=0}^{\infty} \frac{(-1)^n}{n!} c_n$. Moreover, if $\nu_n = L[\phi_n]$, then $\Psi[\nu_n] = S(t)$.

Our objective is to obtain formulas relating (a) shifts in n and multiplication by powers of n in the sequence ν_n , with (b) shifts in the variable t for the function $S(t)$. This way, difference equations satisfied by $S(t)$ can be computed automatically from linear recurrences of the sequence ν_n .

The paper is structured as follows: in Section 2, we introduce all the concepts needed to prove our main result (Theorem 8). In Section 3, we define the class of discrete semiclassical orthogonal polynomials. We consider several examples, and use Theorem 8 to obtain the difference equation satisfied by their Stieltjes transform $S(t)$.

2 Main results

Definition 1 We define the falling factorial (or binomial) polynomials by (γ) or by

$$\phi_n(x) = n! \binom{x}{n}, \quad (10)$$

and the Pochhammer (or rising factorial) polynomials by [8, 5.2(iii)]

$$(x)_n = \prod_{j=0}^{n-1} (x+j). \quad (11)$$

Remark 2 From the definition (γ) , the following recurrences and relations are immediate [7, 18:5:8]

$$\phi_{n+1}(x) = (x-n)\phi_n(x), \quad (12)$$

$$\phi_n(x) = (-1)^n (-x)_n = (x-n+1)_n, \quad (13)$$

$$(x)_{n+m} = (x)_n (x+n)_m, \quad (14)$$

$$\frac{(x)_n}{(x)_m} = \begin{cases} (x+m)_{n-m}, & n \geq m \\ \frac{1}{(x+n)_{m-n}}, & n \leq m \end{cases}, \quad (15)$$

where $n, m \in \mathbb{N}_0$.

Using the previous relations and the definition of the falling factorial polynomials, the following identities can be derived easily.

Lemma 3 For all $k, n \in \mathbb{N}_0$, we have

$$\phi_{n+1}(t+k) = (t+1)_k \phi_{n+1-k}(t), \quad k \leq n+1, \quad (16)$$

$$\phi_{n+1}(t+k) = \frac{(t+1)_k}{(t+1)_{k-1-n}}, \quad k \geq n+1. \quad (17)$$

We now can establish the first relations between transformed sequences and the difference equation of the associated Stieltjes function $S(t)$.

Proposition 4 For all $k \in \mathbb{N}$, we have

$$\Psi[\nu_{n+k}] = (t+1)_k S(t+k) - \sum_{j=0}^{k-1} (t+1)_{k-1-j} \nu_j. \quad (18)$$

Proof. Using (8), we get

$$\Psi[\nu_{n+k}] = \sum_{n=0}^{\infty} \frac{\nu_{n+k}}{\phi_{n+1}(t)} = \sum_{n=k}^{\infty} \frac{\nu_n}{\phi_{n-k+1}(t)}.$$

Since $n \geq k$, we can use (16) and obtain

$$\begin{aligned} \sum_{n=k}^{\infty} \frac{\nu_n}{\phi_{n-k+1}(t)} &= (t+1)_k \sum_{n=k}^{\infty} \frac{\nu_n}{\phi_{n+1}(t+k)} \\ &= (t+1)_k \left[\sum_{n=0}^{\infty} \frac{\nu_n}{\phi_{n+1}(t+k)} - \sum_{n=0}^{k-1} \frac{\nu_n}{\phi_{n+1}(t+k)} \right]. \end{aligned}$$

In the second sum we now have $n+1 \leq k$. Hence, we can use (17) and conclude that

$$\sum_{n=0}^{k-1} \frac{(t+1)_k}{\phi_{n+1}(t+k)} \nu_n = \sum_{n=0}^{k-1} (t+1)_{k-1-n} \nu_n.$$

■

Proposition 5 We have

$$\Psi[n\nu_n] = tS(t) - (t+1)S(t+1) = -\Delta_t(tS(t)), \quad (19)$$

where Δ_t denotes the forward difference operator, defined by $\Delta_t f(t) = f(t+1) - f(t)$.

Proof. Using (16) with $k = 1$, we get $\phi_{n+1}(t+1) = (t+1)\phi_n(t)$. Thus,

$$-\Delta_t \left[\frac{t}{\phi_{n+1}(t)} \right] = \frac{t}{\phi_{n+1}(t)} - \frac{t+1}{\phi_{n+1}(t+1)} = \frac{t}{\phi_{n+1}(t)} - \frac{1}{\phi_n(t)}.$$

From (12), we obtain

$$\frac{1}{\phi_n(t)} = \frac{t-n}{\phi_{n+1}(t)}.$$

Therefore,

$$-\Delta_t \left[\frac{t}{\phi_{n+1}(t)} \right] = \frac{t}{\phi_{n+1}(t)} - \frac{t-n}{\phi_{n+1}(t)} = \frac{n}{\phi_{n+1}(t)},$$

and we conclude that

$$\begin{aligned} -\Delta_t(tS) &= \sum_{n=0}^{\infty} -\Delta_t \left[\frac{t}{\phi_{n+1}(t)} \right] \nu_n = \sum_{n=0}^{\infty} \frac{n\nu_n}{\phi_{n+1}(t)} \\ &= \sum_{n=1}^{\infty} \frac{n\nu_n}{\phi_{n+1}(t)} = \sum_{n=0}^{\infty} \frac{(n+1)\nu_{n+1}}{\phi_{n+2}(t)} = \sum_{n=0}^{\infty} \frac{(n+1)\nu_{n+1}}{\phi_{n+2}(t)}. \end{aligned}$$

■

Corollary 6 For all $p \in \mathbb{N}_0$, we have

$$\Psi[n^p \nu_n] = (-\Delta_t t)^p S(t) = \sum_{i=0}^p (-1)^i (t+1)_i u_{p,i}(t) S(t+i), \quad (20)$$

where the polynomials $u_{p,i}(t) \in \mathbb{Z}[t]$, $\deg(u_{p,i}) = p-i$, are given by

$$u_{p,i}(t) = \sum_{j=0}^{p-i} \binom{j+i}{i} (-1)^{j+i+p} \left\{ \begin{matrix} p+1 \\ j+i+1 \end{matrix} \right\} (t+i+1)_j, \quad (21)$$

and $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}$ denote the Stirling numbers of the second kind, defined by [8, 26.8.6]

$$\left\{ \begin{matrix} n \\ k \end{matrix} \right\} = \frac{1}{k!} \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} j^n.$$

Proof. The result follows from the formula [10, Ch.6, eq.11]

$$(\Delta_t t)^p f(t) = \sum_{j=0}^p \left\{ \begin{matrix} p+1 \\ j+1 \end{matrix} \right\} \phi_j(t+j) \Delta_t^j f(t).$$

From (13), we have $\phi_j(t+j) = (t+1)_j$, and using the formula for higher order differences [9, 6.1]

$$\Delta_t^j f(t) = \sum_{i=0}^j \binom{j}{i} (-1)^{j-i} f(t+i), \quad (22)$$

we get

$$\begin{aligned} (\Delta_t)^p f(t) &= \sum_{j=0}^p \left\{ \begin{matrix} p+1 \\ j+1 \end{matrix} \right\} (t+1)_j \sum_{i=0}^j \binom{j}{i} (-1)^{j-i} f(t+i) \\ &= \sum_{i=0}^p f(t+i) \sum_{j=i}^p \binom{j}{i} (-1)^{j-i} \left\{ \begin{matrix} p+1 \\ j+1 \end{matrix} \right\} (t+1)_j. \end{aligned}$$

Shifting the summation index in the inner sum and using the factorization $(t+1)_{j+i} = (t+1)_i (t+i+1)_j$, we obtain

$$\begin{aligned} (-\Delta_t)^p S(t) &= \sum_{i=0}^p (-1)^i S(t+i) (t+1)_i \\ &\quad \sum_{j=0}^{p-i} \binom{j+i}{i} (-1)^{j+i+p} \left\{ \begin{matrix} p+1 \\ j+i+1 \end{matrix} \right\} (t+i+1)_j. \end{aligned}$$

■

Let us recall the well-known property that the forward difference acts on the raising factorials in a similar way as the derivative does on the monomial basis, i.e.,

$$\Delta_x [(x)_n] = n(x+1)_{n-1}. \quad (23)$$

As an extension of this, we obtain the following result.

Corollary 7 *For all $p, m \in \mathbb{N}_0$, we have*

$$(\Delta_t)^p (t+1)_m = (m+1)^p (t+1)_m. \quad (24)$$

Proof. We use induction on p . The case $p = 0$ is an identity. Assuming the result to be true for $p \geq 0$, we have

$$(\Delta_t)^{p+1} (t+1)_m = \Delta_t [(m+1)^p t(t+1)_m] = (m+1)^p \Delta_t [(t)_{m+1}],$$

where we have used (15) with $n = 1$,

$$(t)_{m+1} = t(t+1)_m.$$

However,

$$\Delta_t [(t)_{m+1}] = (m+1)(t+1)_m$$

by (23) and therefore

$$(\Delta_t t)^{p+1} (t+1)_m = (m+1)^{p+1} (t+1)_m,$$

and the result is proved. ■

Next, we put all the pieces together and give a formula to translate recurrence equations with polynomial coefficients for the sequence ν_n , into difference equations satisfied by $S(t)$.

Theorem 8 *For all $p, k \in \mathbb{N}_0$, we have*

$$\begin{aligned} \Psi [n^p \nu_{n+k}] &= \sum_{j=0}^p (-1)^j (t+1)_{k+j} u_{p,j}(t) S(t+j+k) \\ &\quad - \sum_{j=0}^{k-1} (j-k)^p (t+1)_{k-1-j} \nu_j, \end{aligned}$$

where the polynomials $u_{p,j}(t)$ were defined in (21).

Proof. Using (20) in (18), we get

$$\begin{aligned} \Psi [n^p \nu_{n+k}] &= (-\Delta_t t)^p \Psi [\nu_{n+k}] \\ &= (-\Delta_t t)^p \left[(t+1)_k S(t+k) - \sum_{j=0}^{k-1} (t+1)_{k-1-j} \nu_j \right]. \end{aligned}$$

From (20), we obtain

$$\begin{aligned} (-\Delta_t t)^p [(t+1)_k S(t+k)] &= \\ &= \sum_{j=0}^p (-1)^j (t+j+1)_k (t+1)_j u_{p,j}(t) S(t+j+k). \end{aligned}$$

Again we factor using (16), i.e., $(t+j+1)_k (t+1)_j = (t+1)_{k+j}$, and therefore

$$(-\Delta_t t)^p [(t+1)_k S(t+k)] = \sum_{j=0}^p (-1)^j (t+1)_{k+j} u_{p,j}(t) S(t+j+k).$$

From (24), we get

$$(-\Delta_t t)^p \left[(t+1)_{k-1-j} \right] = (-1)^p (k-j)^p (t+1)_{k-1-j},$$

and we conclude that

$$(-\Delta_t t)^p \sum_{j=0}^{k-1} (t+1)_{k-1-j} \nu_j = \sum_{j=0}^{k-1} (j-k)^p (t+1)_{k-1-j} \nu_j.$$

■

3 Discrete semiclassical orthogonal polynomials

In this section, we consider functionals of the form

$$L[q] = \sum_{x=0}^{\infty} q(x) \rho(x), \quad q \in \mathbb{C}[x], \quad (25)$$

where the weight function $\rho : \mathbb{N}_0 \rightarrow \mathbb{C}$ is given by

$$\rho(x) = \frac{(a_1)_x (a_2)_x \cdots (a_p)_x z^x}{(b_1+1)_x \cdots (b_q+1)_x x!}. \quad (26)$$

Using (14), we see that the weight function $\rho(x)$ satisfies the *Pearson equation*

$$\frac{\rho(x+1)}{\rho(x)} = \frac{\lambda(x)}{\sigma(x+1)}, \quad (27)$$

where the polynomials $\lambda(x), \sigma(x)$ are given by

$$\begin{aligned} \lambda(x) &= z(x+a_1)(x+a_2) \cdots (x+a_p), \\ \sigma(x) &= x(x+b_1-1) \cdots (x+b_q-1). \end{aligned} \quad (28)$$

We call L *discrete semiclassical* and define the class of L to be the number

$$s = \max \{ \deg(\lambda) - 2, \deg(\lambda - \sigma) - 1 \}. \quad (29)$$

The functionals of class $s = 0$ are called *discrete classical* [4].

Note that the moments $\nu_n(z)$ are given by

$$\nu_n(z) = \sum_{x=0}^{\infty} \phi_n(x) \rho(x).$$

In particular, for the first moment $\nu_0(z)$ we get

$$\nu_0(z) = \sum_{x=0}^{\infty} \frac{(a_1)_x (a_2)_x \cdots (a_p)_x z^x}{(b_1)_x \cdots (b_q)_x x!} = {}_pF_q \left(\begin{matrix} a_1, \dots, a_p \\ b_1, \dots, b_q \end{matrix}; z \right),$$

where ${}_pF_q$ denotes the generalized hypergeometric function [8, 16.2].

Since the falling factorial polynomials $\phi_n(x)$ are eigenvalues of the differential operator $z^n \frac{d^n}{dz^n}$,

$$z^n \frac{d^n}{dz^n} z^x = \phi_n(x) z^x,$$

we have

$$\nu_n(z) = \sum_{x=0}^{\infty} \frac{(a_1)_x (a_2)_x \cdots (a_p)_x \phi_n(x) z^x}{x! (b_1)_x \cdots (b_q)_x} = z^n \frac{d^n}{dz^n} \nu_0(z). \quad (30)$$

Using the identity [8, 16.3.1]

$$\frac{d^n}{dz^n} {}_pF_q \left(\begin{matrix} a_1, \dots, a_p \\ b_1, \dots, b_q \end{matrix}; z \right) = \frac{(a_1)_n \cdots (a_p)_n}{(b_1)_n \cdots (b_q)_n} {}_pF_q \left(\begin{matrix} a_1 + n, \dots, a_p + n \\ b_1 + n, \dots, b_q + n \end{matrix}; z \right),$$

we obtain

$$\nu_n(z) = z^n \frac{(a_1)_n \cdots (a_p)_n}{(b_1)_n \cdots (b_q)_n} {}_pF_q \left(\begin{matrix} a_1 + n, \dots, a_p + n \\ b_1 + n, \dots, b_q + n \end{matrix}; z \right). \quad (31)$$

From (30), we see that the exponential generating function of the moments $\nu_n(z)$ is given by

$$G(u; z) = \sum_{n=0}^{\infty} \nu_n(z) \frac{u^n}{n!} = \sum_{n=0}^{\infty} \frac{(uz)^n}{n!} \frac{d^n}{dz^n} \nu_0(z) = \nu_0[(u+1)z]. \quad (32)$$

Since $\nu_0(z)$ satisfies a differential equation of order $\max\{p, q+1\}$ with polynomial coefficients (see [8, 16.8(ii)]), it follows that the sequence $\{\nu_n\}$ is holonomic (or P-recursive) [5]. Note that from (32) we see that

$$\sum_{n=0}^{\infty} \nu_n(z) \frac{(-1)^n}{n!} = \nu_0(0) = 1,$$

and therefore the coefficient d_{-1} in (9) is always equal to 1 for these moment sequences.

The classical discrete orthogonal families are the Charlier, Meixner, Kravchuk, and Hahn polynomials. Their moments satisfy the recurrences

$$\begin{aligned} \nu_{n+1} - z\nu_n &= 0, & (\text{Charlier polynomials}) \\ (1-z)\nu_{n+1} - z(n+a)\nu_n &= 0, & (\text{Meixner polynomials}) \\ (1-z)\nu_{n+1} - z(n-N)\nu_n &= 0, & (\text{Kravchuk polynomials}) \\ (a-b-N+1+n)\nu_{n+1} + (n-N)(n+a)\nu_n &= 0, & (\text{Hahn polynomials}) \end{aligned}$$

where $N \in \mathbb{N}_0$. Using Theorem 8, we derive the following difference equations for their Stieltjes transforms

$$\begin{aligned} (t+1)S(t+1) - zS(t) &= \nu_0, & (\text{Charlier}) \\ (t+1)S(t+1) - z(t+a)S(t) &= (1-z)\nu_0, & (\text{Meixner}) \\ (t+1)S(t+1) - z(t-N)S(t) &= (1-z)\nu_0, & (\text{Kravchuk}) \\ (t+1)(t+b)S(t+1) - (t-N)(t+a)S(t) &= (b-a+N)\nu_0. & (\text{Hahn}) \end{aligned}$$

Equivalent difference equations were obtained in [1, 3.1] using a different technique.

In [3], we classified the weight functions satisfying (27), with $\deg(\lambda - \sigma) = 2$ and $1 \leq \deg(\sigma) \leq 3$. Below, we use the main cases as examples.

Example 9 *Let's consider the families of polynomials orthogonal with respect to the weight functions*

1. *Generalized Charlier polynomials*

$$\rho(x) = \frac{1}{(b)_n} \frac{z^x}{x!},$$

2. *Generalized Meixner polynomials*

$$\rho(x) = \frac{(a)_x}{(b)_x} \frac{z^x}{x!},$$

3. *Generalized Kravchuk polynomials*

$$\rho(x) = (-N)_x (a)_x \frac{z^x}{x!}, \quad N \in \mathbb{N}_0,$$

4. *Generalized Hahn polynomials of type I*

$$\rho(x) = \frac{(a_1)_x (a_2)_x}{(b)_x} \frac{z^x}{x!},$$

5. *Generalized Hahn polynomials of type II*

$$\rho(x) = \frac{(-N)_x (a_1)_x (a_2)_n}{(b_1)_x (b_2)_x} \frac{1}{x!}, \quad N \in \mathbb{N}_0.$$

We see from (31) that the moments are given by

1. *Generalized Charlier polynomials*

$$\nu_n(z) = \frac{z^n}{(b)_x} {}_0F_1 \left[\begin{matrix} - \\ b+n \end{matrix} ; z \right],$$

2. *Generalized Meixner polynomials*

$$\nu_n(z) = z^n \frac{(a)_n}{(b)_n} {}_1F_1 \left[\begin{matrix} a+n \\ b+n \end{matrix} ; z \right],$$

3. *Generalized Kravchuk polynomials*

$$\nu_n(z) = (-N)_n (a)_n {}_2F_0 \left[\begin{matrix} -N+n, a+n \\ - \end{matrix} ; z \right],$$

4. *Generalized Hahn polynomials of type I*

$$\nu_n(z) = z^n \frac{(a_1)_n (a_2)_n}{(b)_n} {}_2F_1 \left[\begin{matrix} a_1+n, a_2+n \\ b+n \end{matrix} ; z \right],$$

5. *Generalized Hahn polynomials of type II*

$$\nu_n = \frac{(-N)_n (a_1)_n (a_2)_n}{(b_1)_n (b_2)_n} {}_3F_2 \left[\begin{matrix} -N+n, a_1+n, a_2+n \\ b_1+n, b_2+n \end{matrix} ; 1 \right].$$

Using the Mathematica package *HolonomicFunctions* [6], we get the recurrence relations

1. *Generalized Charlier polynomials*

$$\nu_{n+2} + (n+b)\nu_{n+1} - z\nu_n = 0,$$

2. *Generalized Meixner polynomials*

$$\nu_{n+2} + (n+b-z)\nu_{n+1} - z(n+a)\nu_n = 0,$$

3. *Generalized Kravchuk polynomials*

$$z\nu_{n+2} + [(2n - N + a + 1)z - 1]\nu_{n+1} + z(n + a)(n - N)\nu_n = 0,$$

4. *Generalized Hahn polynomials of type I*

$$(1 - z)\nu_{n+2} + [n + b - (2n + a_1 + a_2 + 1)z]\nu_{n+1} - z(n + a_1)(n + a_2)\nu_n = 0,$$

5. *Generalized Hahn polynomials of type II*

$$(N - n + b_1 + b_2 - a_1 - a_2 - 2)\nu_{n+2} + [(n + b_1)(n + b_2) + N(2n + a_1 + a_2 + 1)]\nu_{n+1} - (3n^2 + 3n + 1 + a_1 + a_2 + 2na_1 + 2na_2 + a_1a_2)\nu_{n+1} + (N - n)(a_1 + n)(a_2 + n)\nu_n = 0.$$

Using Theorem 8, we conclude that their Stieltjes transforms satisfies the difference equations

1. *Generalized Charlier polynomials*

$$(t + 1)(t + b)S(t + 1) - zS(t) = (t + b)\nu_0 + \nu_1,$$

2. *Generalized Meixner polynomials*

$$(t + 1)(t + b)S(t + 1) - z(t + a)S(t) = (t + b - z)\nu_0 + \nu_1,$$

3. *Generalized Kravchuk polynomials*

$$(t + 1)S(t + 1) - z(t + a)(t - N)S(t) = [1 - (t + a - N)z]\nu_0 - z\nu_1,$$

4. *Generalized Hahn polynomials of type I*

$$(t + 1)(t + b + 1)S(t + 1) - z(t + a_1)(t + a_2)S(t) = [(1 - z)t + b + 1 - z(a_1 + a_2)]\nu_0 + (1 - z)\nu_1,$$

5. *Generalized Hahn polynomials of type II*

$$(t + 1)(t + b_1 + 1)(t + b_2 + 1)S(t + 1) - (t + a_1)(t + a_2)(t - N)S(t) = [(2 + b_1 + b_2 + N - a_1 - a_2)t + N(a_1 + a_2) - a_1a_2 + (b_1 + 1)(b_2 + 1)]\nu_0 + (1 + b_1 + b_2 + N - a_1 - a_2)\nu_1.$$

References

- [1] C. F. Bracciali, T. E. Pérez, and M. A. Piñar. Stieltjes functions and discrete classical orthogonal polynomials. *Comput. Appl. Math.*, 32(3):537–547, 2013.
- [2] T. S. Chihara. *An introduction to orthogonal polynomials*. Gordon and Breach Science Publishers, New York-London-Paris, 1978. Mathematics and its Applications, Vol. 13.
- [3] D. Dominici and F. Marcellán. Discrete semiclassical orthogonal polynomials of class one. *Pacific J. Math.*, 268(2):389–411, 2014.
- [4] A. G. García, F. Marcellán, and L. Salto. A distributional study of discrete classical orthogonal polynomials. In *Proceedings of the Fourth International Symposium on Orthogonal Polynomials and their Applications (Evian-Les-Bains, 1992)*, volume 57, pages 147–162, 1995.
- [5] Manuel Kauers and Peter Paule. *The concrete tetrahedron*. Texts and Monographs in Symbolic Computation. SpringerWienNewYork, Vienna, 2011. Symbolic sums, recurrence equations, generating functions, asymptotic estimates.
- [6] C. Koutschan. *Advanced Applications of the Holonomic Systems Approach*. 2009. Thesis (Ph.D.)—Research Institute for Symbolic Computation, Johannes Kepler University Linz.
- [7] K. Oldham, J. Myland, and J. Spanier. *An atlas of functions*. Springer, New York, second edition, 2009. With Equator, the atlas function calculator, With 1 CD-ROM (Windows).
- [8] F. W. J. Olver, D. W. Lozier, R. F. Boisvert, and C. W. Clark, editors. *NIST handbook of mathematical functions*. U.S. Department of Commerce, National Institute of Standards and Technology, Washington, DC; Cambridge University Press, Cambridge, 2010. With 1 CD-ROM (Windows, Macintosh and UNIX).
- [9] J. Quaintance and H. W. Gould. *Combinatorial identities for Stirling numbers*. World Scientific Publishing Co. Pte. Ltd., Singapore, 2016. The unpublished notes of H. W. Gould, With a foreword by George E. Andrews.
- [10] J. Riordan. *Combinatorial identities*. Robert E. Krieger Publishing Co., Huntington, N.Y., 1979. Reprint of the 1968 original.

Technical Reports of the Doctoral Program

“Computational Mathematics”

2018

- 2018-01** D. Dominici: *Laguerre-Freud equations for Generalized Hahn polynomials of type I* Jan 2018. Eds.: P. Paule, M. Kauers
- 2018-02** C. Hofer, U. Langer, M. Neumüller: *Robust Preconditioning for Space-Time Isogeometric Analysis of Parabolic Evolution Problems* Feb 2018. Eds.: U. Langer, B. Jüttler
- 2018-03** A. Jiménez-Pastor, V. Pillwein: *Algorithmic Arithmetics with DD-Finite Functions* Feb 2018. Eds.: P. Paule, M. Kauers
- 2018-04** S. Hubmer, R. Ramlau: *Nesterov’s Accelerated Gradient Method for Nonlinear Ill-Posed Problems with a Locally Convex Residual Functional* March 2018. Eds.: U. Langer, R. Ramlau
- 2018-05** S. Hubmer, E. Sherina, A. Neubauer, O. Scherzer: *Lamé Parameter Estimation from Static Displacement Field Measurements in the Framework of Nonlinear Inverse Problems* March 2018. Eds.: U. Langer, R. Ramlau
- 2018-06** D. Dominici: *A note on a formula of Krattenthaler* March 2018. Eds.: P. Paule, V. Pillwein
- 2018-07** C. Hofer, S. Takacs: *A parallel multigrid solver for multi-patch Isogeometric Analysis* April 2018. Eds.: U. Langer, B. Jüttler
- 2018-08** D. Dominici: *Power series expansion of a Hankel determinant* June 2018. Eds.: P. Paule, M. Kauers
- 2018-09** P. Paule, S. Radu: *A Unified Algorithmic Framework for Ramanujan’s Congruences Modulo Powers of 5, 7, and 11* Oct 2018. Eds.: M. Kauers, V. Pillwein
- 2018-10** D. Dominici: *Matrix factorizations and orthogonal polynomials* Nov 2018. Eds.: P. Paule, M. Kauers
- 2018-11** D. Dominici, V. Pillwein: *Difference equation satisfied by the Stieltjes transform of a sequence* Dec 2018. Eds.: P. Paule, M. Kauers

Doctoral Program

“Computational Mathematics”

Director:

Dr. Veronika Pillwein
Research Institute for Symbolic Computation

Deputy Director:

Prof. Dr. Bert Jüttler
Institute of Applied Geometry

Address:

Johannes Kepler University Linz
Doctoral Program “Computational Mathematics”
Altenbergerstr. 69
A-4040 Linz
Austria
Tel.: ++43 732-2468-6840

E-Mail:

office@dk-compmath.jku.at

Homepage:

<http://www.dk-compmath.jku.at>